
WARNINGS
ALWAYS WEAR APPROPRIATE PROTECTIVE EQUIPMENT. 
IMPROPER USE COULD RESULT IN DEATH OR DISMEM-
BERMENT. IF ANY CRACKS, RIPS OR TEARS ARE NOTED, 
PRODUCT REPLACEMENT IS REQUIRED.

Ty-Flot, Inc. • 305 Massabesic Street • Manchester, NH 03103
www.ty-flot.com • Phone: 603-669-5169 • Fax: 603-669-5113

CUTTING-EDGE PREVENTION™

72” Wire Tether Attachment for Angle Grinders
Installation and Usage Instructions
L72WRGRND

Part No. Description

5/16-18 1/2”L Flange Head Cap Screw

3/8-16 1/2”L Flange Head Cap Screw

M 8x1.25mm 12mmL Flange Head Cap Screw

M 10x1.5mm 12mmL Cap Screw

M 12x1.75mm 12mmL Cap Screw

M 14x2.0mm 25mmL Cap Screw

OWS6OR Tie Off Strap

NOTE: This kit fits most name brand angle grinders. Verify 
this kit has the proper bolting to fit your specific bolt size.

In order from left to right

a. Remove the handle and install the first loop to the handle bolt and re-install into the factory threaded hole. 
(Fig. 1)

b. Install the second loop to the selected supplied bolt and install into the factory threaded hole opposite the 
handle. (Fig. 2)

c. Tighten enough so the bolt and handle will not vibrate loose. Over-tightening can cause threads to strip.

Max. Weight: 10 lbs (4.5 kg)

STEP 1Parts List:

STEP 2
If tether management is desired, be sure to tie off 
the tether loosely to the power cord to prevent 
damage.

Figure 1 Figure 2

85519 (Rev. A) IN
STALLATIO

N


